
943.55.021
943.55.030

943.55.023
943.55.032

7
+2

/-5

40

43

24

22

7
+5

/-2

2

M

L=
M

-5
9

943.55.400

42,4

43

11,3

10−10,7
12−12,7

10−10,7
12−12,7

N
=M

-1
88

64
,5

7
+5

/-2

24

22
2

7
+2

/-5

► 8/52

 

1/52

H
D

E 
25

.0
8.

20
22

Slido W-Fold32 100G

73
2.

29
.8

64
 



2/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

943.55.021: 1x
943.55.024: 1x
943.55.040: 1x
943.55.050: 1x
(943.55.060: 2x)
943.55.502: 3x
943.55.501: 1x
943.55.400: 3x
943.55.401: 1x
943.55.404: 2x
943.55.406: 1x
943.55.402: 1x
943.55.405: 1x
943.55.021: 1x
943.55.024: 1x
943.55.025: 1x
943.55.026: 1x
943.55.040: 1x
943.55.050: 1x
(943.55.060: 2x)
943.55.502: 5x
943.55.501: 1x
943.55.400: 4x
943.55.401: 2x
943.55.404: 4x
943.55.406: 1x
943.55.402: 2x
943.55.405: 1x

–

943.55.021: 1x
943.55.026: 1x
943.55.041: 1x
943.55.051: 1x
(943.55.061: 2x)
943.55.502: 2x
943.55.501: 1x
943.55.400: 1x
943.55.401: 2x
943.55.404: 2x
943.55.406: 1x
943.55.402: 1x
943.55.405: 1x

943.55.023: 1x
943.55.027: 1x
943.55.041: 1x
(943.55.061: 2x)
943.55.502: 2x
943.55.501: 1x
943.55.400: 1x
943.55.401: 2x
943.55.403: 2x
943.55.073: 2x
943.55.406: 1x
943.55.402: 1x
943.55.405: 1x

943.55.023: 1x
943.55.028: 1x
943.55.041: 1x
(943.55.061: 2x)
943.55.502: 3x
943.55.501: 1x
943.55.400: 3x
943.55.401: 1x
943.55.403: 2x
943.55.073: 2x
943.55.406: 1x
943.55.402: 1x
943.55.405: 1x

943.55.023: 2x
943.55.040: 1x
(943.55.060: 2x)
943.55.502: 2x
943.55.501: 2x
943.55.400: 2x
943.55.401: 2x
943.55.403: 2x
943.55.073: 2x
943.55.406: 1x
943.55.402: 1x
943.55.405: 1x

943.55.021: 2x
943.55.040: 1x
943.55.050: 1x
(943.55.060: 2x)
943.55.502: 2x
943.55.501: 2x
943.55.400: 2x
943.55.401: 2x
943.55.404: 2x
943.55.406: 1x
943.55.402: 1x
943.55.405: 1x

► 44/52

10 - 10,7 mm 



3/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

1
3

1
3

1
3

500 ≤ K ≤ 1000K/2+54

L 
≤ 

30
00

100 kg 100 kg 100 kg

943.55.400 943.55.400

943.55.400

943.55.400

943.55.400

K



4/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

G 1x

I1xH 1x

C 1x E 1x

E 1x

D 1x

G 1x

W1x

C 1x

A 1x

B 1x F1x

F 1x

D 1x

A 1x

B 1x

4x X 1x V

1xH

943.55.021
943.55.030

943.55.025
943.55.034

943.55.024
943.55.033

943.55.026
943.55.035

1xV 1xW

J1x

X8x X4x

X4xÖ4x



5/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

K1x
M1x O1x

L1x

N2x

943.55.404

943.55.060
943.55.061

943.55.405943.55.400

943.55.050
943.55.051
 

943.55.502
943.55.501
943.55.500

Y4x

943.55.401

943.55.040
943.55.041

1xR

943.55.406 943.55.402

943.55.080

1x U

1xZ

2xQ

1xP

1xÄ

943.55.703

1xÜ1 1xÜ2 Ü31x Ü41x



6/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

G 1x

H 1x

C 1x E 1x

S 1x

A 1x

B 1x

943.55.023
943.55.032

943.55.028
943.55.037

I1x J1x

X4xÖ4x

1x VC 1xA 1x

943.55.027
943.55.036

S 1x

X4x

B 1x

E 1x G 1x H 1x X8x



7/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

M1x
L1x

943.55.060
943.55.061

943.55.040
943.55.041

2xQ

N2x

943.55.403 943.55.405943.55.400

1xR

943.55.080

1x U

O1x

943.55.502
943.55.501
943.55.500
 

Y4x

943.55.401

1xP

943.55.073943.55.406

1xT
1xZ

943.55.402

943.55.703

1xÄ

1xÜ1 1xÜ2 Ü31x Ü41x



8/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

C

K/2+54 K K K

D=5 AD=5D=5A

K = (C-A-54-D-D-D-A) / 3,5

► 47/52

40

A

2

6
54+A

50

A

K DD

► 47/52

B

C

K/2+54 K K K K

D=5 B=8 AD=5D=5A

K = (C-A-54-D-D-D-E-A) / 4,5

A

K DD

40

A

2

6
54+A

50



9/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

► 47/52

B

C

K/2+54 K K K K

D=5 B=8 AD=5D=5A

K = (C-A-54-D-D-D-E-A) / 4,5

A

K DD

40

A

2

6
54+A

50



10/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

1

I
1

C

max. 100

C

max. 100

2

3 5

4

I

U

U

SW 2,5

1

2

3

L

C

2
943.55.060
943.55.061



11/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

1

2

3

L

C

2
943.55.060
943.55.061



12/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

3

3

E
E

A

2

1 A

PZ  2

54+A
506

A
2

Ü

► 47/52
► 48/52
► 49/52
► 50/52

A



13/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

4

C

K

D

1

3

4

PZ  2

54+A

7

SW 2,5

D
5

6

54+A

943.55.703

54+A
506

A
2

Ü

► 47/52
► 48/52
► 49/52
► 50/52

A



14/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

4

1 S

54+A

S

2

x

x

x+0,7180°

0°

54+A

S
S

90°

x

+ 
0,

7

x

x-0,7

x

- 0
,7

270°

S

S S

Ø 20

Ø 20



15/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

1004
K/2+54

5

4

2

1

Ö

Alc
100%

~20°C

SW 3

6 Nm

3

4



16/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

2304
K

A A

A

5

119

14 R7,5

optional
4

2

1

XAlc
100%

~20°C

SW 3

6 Nm

5

3

4 4

4
K/2+54

4

K/2+46

1

2

3

O

6

YY

IS 30 IS 25

O

4

5

O

A

A B

B

M6x35

4x
M6x35

4x

M5x25

1x

M5x25

1x



17/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

4
K/2+54

4

K/2+46

1

2

3

O

6

YY

IS 30 IS 25

O

4

5

O

A

A B

B

M6x35

4x
M6x35

4x

M5x25

1x

M5x25

1x



18/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

6

6

8

56

C

B
7

SW 4

C
9

A

B

56

C

10

11N

6
IS 30 IS 25

C D

C

D

M6x35

4x

M5x25

1x

M6x35

4x

M5x25

1x

4 4



19/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

10

11N

6
IS 30 IS 25

C D

C

D

M6x35

4x

M5x25

1x

M6x35

4x

M5x25

1x

4 4



20/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

14

B
D

12

A

15

6

13A

6
SW 10

7+5/-216

17

6
SW 10



21/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

6
SW 10

7+5/-216

17

6
SW 10



22/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

4
K

4

K-8

1

2

O

7

O

3
O

A

A B

B

7

4

5

8

SW 4

6 7

H

G

F

A

D

C

C

D

A

= =

= =

9



23/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

7

4

5

8

SW 4

6 7

H

G

F

A

D

C

C

D

A

= =

= =

9



24/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

7
IS 30 IS 25

C

D

10

11N

C D

M6x35

4x

M5x25

1x

M6x35

4x

M5x25

1x

7

11

E

12

13



25/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

7
IS 30 IS 25

C

D

10

11N

C D

M6x35

4x

M5x25

1x

M6x35

4x

M5x25

1x

7

11

E

12

13



26/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

7
SW 10

7+2/-5

15

7

16

17

M6x35

4x
M5x25

1x

IS 30 IS 25



27/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

7
SW 10

7+2/-5

15

7

16

17

M6x35

4x
M5x25

1x

IS 30 IS 25



28/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

73
3.

XX
.X

XX

8

4
K

62

20
4

K-8

1
O

Ø15

943.55.403
943.55.404

D

2

4 5

D
Z

5 mm

15 mm

3

8

9

O

10
O

6 8

O

Q

SW 3

943.55.403
943.55.404

A

B

BA

7 P



29/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

8

9

O

10
O

6 8

O

Q

SW 3

943.55.403
943.55.404

A

B

BA

7 P



30/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

13

8

11

12

14

73
3.

XX
.X

XX

M6x35

4x

M5x25

1x

M6x35

4x
M5x25

1x

IS 30 IS 25
8

T

T

79

Ø 25

15

943.55.403
943.55.404

► 44/52
► 45/52
► 46/52



31/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

8

T

T

79

Ø 25

15

943.55.403
943.55.404

► 44/52
► 45/52
► 46/52



32/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

8

16

18

17

17

M6x35

4x M5x25

1x

M6x35

4x
M5x25

1x

IS 30 IS 25
9

4
K

4

K-8

1

2

O

O

3
O

A

A B

B



33/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

9

4
K

4

K-8

1

2

O

O

3
O

A

A B

B



34/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

9
SW 4

7

5 6

G

F

D

C

C

D

A

= =

= =

8

4

5

HA

9
IS 30 IS 25

C

D

10

11
Y

C D

M6x35

4x

M5x25

1x

M6x35

4x

M5x25

1x



35/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

9
IS 30 IS 25

C

D

10

11
Y

C D

M6x35

4x

M5x25

1x

M6x35

4x

M5x25

1x



36/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

9

11

12

13

E

9

15

16

14

M6x35

4x
M5x25

1x

7 +2/-5

SW 10 IS 30 IS 25



37/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

9

15

16

14

M6x35

4x
M5x25

1x

7 +2/-5

SW 10 IS 30 IS 25



38/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

10

4
K

4

K-8

1

2

3

O

YY

O

4

5

O

A

A B

B

M6x35

4x M5x25

1x

M6x35

4x
M5x25

1x

IS 30 IS 25
10

6

8

56

B

56

C

B
7

SW 4

C
9

A

B



39/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

10

6

8

56

B

56

C

B
7

SW 4

C
9

A

B



40/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

10
IS 30 IS 25

C

D

10

11
Y

C D

M6x35

4x

M5x25

1x

M6x35

4x

M5x25

1x



41/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

73
3.

XX
.X

XX

10

B
D

12

A

15

14
13 A



42/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

7-2/+5

10
SW 10

16

1

4-8

2

SW 2,5



43/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

1

4-8

2

SW 2,5



44/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

1 2

3 4

3

2 2

1 1 1

5

1 1

4



45/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

1

2

3

90°

V

10+0,5

10

10,5

V

15

SW 3

8,5

943.55.025
943.55.034

943.55.403



46/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

3

1

2

90°

W

10 + 0,5

8,5

12

10,5

10

W

SW 3

943.55.025
943.55.034

943.55.403

40

54+A
506

A
2

4040

54+A20

A

2
7

506

A ≥ 9

A = 27 – 33

A = 7 – 13

40

54+A

506

40

A

2
7

Ü

Ü



47/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

40

54+A
506

A
2

4040

54+A20

A

2
7

506

A ≥ 9

A = 27 – 33

A = 7 – 13

40

54+A

506

40

A

2
7

Ü

Ü



48/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

PZ  2

3

Ü1

5

Ü2

4

1

2

Ü1

Ü2

M-45

6

7

8

SW 3

2
7



49/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

6

7

8

SW 3

2
7



50/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

9

11

12

13

Ü3

Ü4

Ü4

Ä

optional

10

Ü4

M-45

2

1A

4

3

2

110



51/52

H
D

E 
25

.0
8.

20
22

73
2.

29
.8

64
 

2

1A

4

3

2

110



52/52

H
D

E 
25

.0
8.

20
22

 
73

3.
XX

.X
XX

Subject to 
alterations

© 2021 by Häfele SE & Co KG
Adolf-Häfele-Str. 1 · D-72202 Nagold · www.hafele.com

73
2.

29
.8

64


